	Benha University 
Faculty of Engineering- Shoubra
Electrical Eng. Department
Duration : 3 hours
	[image: Benha]
	Final Term Exam             Date: 5  / 1 / 2015
Advanced Studies of Economic Operation of Power Systems (2) 



	· Answer all the following question
	· No. of required questions: 6

	· Illustrate your answers with sketches when necessary.
	· Total Mark:  210 Marks

	· The exam. Consists of one  page
	



Answer the two following questions: -

1) Assume that the plant incremental production cost data given by 

        dF1/dP1 = 1.2 P1 + 2.2     ,   dF2/dP2 = 1.1 P2 + 1.6

Where P is expressed in per unit on a 100 MVA base. 
The maximum and minimum loading of each unit are 100 Mw and 20 Mw, respectively. 
The Bmn coefficients in per unit on a 100 MVA base are given by 
                        0.10           -0.05
                       -0.05            0.20   
Use the iterative procedure, find for λ=3 :-                                                               (60 marks)
      - The total generation,                - The transmission losses,   
      - The received power,                 - The total fuel i/p
Form the digital computer flow diagram for the solution. 

2) Put for you a question in the scope of our course, then give your answer in details. 
                                                                                                                                   (30 marks)                                     

Answer only 4 questions from the following questions: 

3) Define the setting of an Autotransformer. State the modification of the equations of reference frame 3 due to involving Autotransformers in the power system.             (30 marks) 
 
4) Discuss the different Methods of coordinating  incremental production costs and incremental transmission losses.                                                                                   (30 marks)

5) Mention the required data for the analysis of the economic scheduling of system generation.                                                                                                                   (30 marks)

6) Discuss one method from the alternative methods of coordinating incremental plant production costs and incremental transmission losses.                                               (30 marks)

7)  For a two-machine system without intermediate loads, find an expression for each of  ∆PL and  (dPL1,2 / dP1) .                                                                                                       (30 marks)


 With my best wishes &                                  
                      Professor Dr. Mohamed Moenes 
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